Narne:

Period:
1. Kinetic Energy  {A. The units for energy.
2. Potential Eneig_y B. The ability to create forces or motion.
3. Energy g C. Energy because of an object’s motion.
gy £ | Foem bttt oo
5. Joules A+ E. Vertical distance above the ground.

5. Chemical T~ E.

Hovw can you preve that something has energy?

1. Thermal <. A. Energy of the atom being split or
fused.
2. Nuclear A’ B. Energy of moving electroms,
3. Radiant T> C. Heat energy. Also caused by friction,
D. Light energy—electromagnetic radia-

4, Mechanical = tion.

Energy (kinetic or potential) stored in
object and can do work.

6. Electrical £ F. Energy of molecular bonds.

Circle the one witl: more Potentiad Energy

Tt ocan wake coweth M‘f POT,

(62 creste  [(orces D

Potential (B} or Kinetic (Ey) Energy

Eg A car is traveling 45 mph,

A 25 kg mass or :@(&gﬂass at the top of a hill?

A car at @a the hill or the bottom of a hill?

A plane on the ground or a plane in t@

A planie or an empty plane (both are flying)? pove  +7

Circie the one with more Kinetic Energy

)Erz Arock is ona ledge 5 meters high.
.EE A car is resting at the top of a hill.
’% l%fall is thrown into the fr and is stili mml;_fﬁg

E y. A ball rolling on the ground,

A car at rest or a ca

A 25 kg mass or § 30 kg niass going 5 m/s.

Two 10 kg masses, one goinne going 45 m/s.

dewimn a hill,
A ke or a light bike.

Adkgrock isrolling 10 m/s. Find its kinetic energy.

What kind of energy does f } - =4 %
the pendulum have in each . EC—' lem ¢ EK’ =" > - T
of its positions? - =t {&'5 1= = z(lev) = 200
f’ Calculate the potential energy of a 10 kgrock atthe top of a 6 m
- tall table,
B) EK_ w=10kq ri"’w )[5>
o F A =6 ot ol
F B c = ot éé) = éDD
_ A 8 kg cat is running 4 m/ s Fmd the cat’s Kinetic energy.
What kind of Energy? m= &k F _,wy.w = quf”v)t
Thermal; Nuclear; Radiant; Mechemiced; Chemical: Electvical | v=Yv [‘8)(4 J ¢ 4 J,,
M Avallon top of a hill, £ Given off by the sun, E T . .
Find the potential energy of a 2 kg ball 15 m in the air,
i Guasoline, ﬁ_ A car going 50 mph. . zlzj, }_f = v lq
& Usedtoruna clock. T Heat from afire. = ]5;‘ = Z{ |2 Ifb = ZCB"O> =303
, F=1
IA hot stove. _E Light from a match. A rolling ball going 3 m/s has 18 joules of kinetic energy.
_MUranium inreactors. é Stored in plants. Eg%lﬁsjlrgass I p= o m v - %= 'ﬂ m
< Stored in food. R Powers photosynthesis. Be=) r40) € = j—;, ( i BCB) = ?-I V;g
; X "= m=
Glve all e fypes of erirgy in a camp fire A box is 4 m in the air and has 120 J of potential energy. What
Chepi Cal - wov isthebox’s mass. 5= W (]o}f B
Give all the types of energy in a light bulb. m= & fc,?,,
electrics . . . s
- A 4 kg bird has 8 joules of kinetic energy, How fast is it {lying?
Rsdiznd Therme| F ._Lmu J=E_y
Give all the types of energy when a bullet is fired. F/ l(lb V "
Theema [—Crictivy  cliemice] wbw_> VE= L[
. & =
)“PCCL;« mavmg (the 3UM}D 6/ 2v® }”/5
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